Product	Details	Price
Custom Canvas	1.25" Thickness	
8	8x8 Canvas (1.25")	\$25.00
12	8x10,8x11,8x12	\$29.00
21	15x20, 15x21	\$49.00
24	16x24	\$55.00
24	18x24	\$59.00
16	16x16	\$49.00
24	24x24	\$69.00
<b>Custom Canvas</b>	1.75" Thickness	
8	8x8 Canvas (1.75")	\$29.00
12	8x10,8x11,8x12	\$35.00
20	15x20	\$69.00
24	16x24	\$79.00
24	18x24	\$89.00
30	20x30	\$109.00
36	24x36	\$129.00
40	30x40	\$149.00
48	36x48	\$179.00
16	16x16	\$65.00
24	24x24	\$95.00
28	28x28	\$119.00
30	30x30	\$129.00
36	36x36	\$149.00
48	48x48	\$199.00
Vinyl Heat Press/DTF	Adult with clothing	
T-shirt	Without Clothing: Price - \$5	with minimum
S-XL	Plus Small Design	\$10.00
	Plus Medium Design	\$12.00
	Plus Large Design	\$15.00
2XL-3XL	Plus Small Design	\$13.00
	Plus Medium Design	\$15.00
	Plus Large Design	\$18.00
Long Sleeve T-shirt	Plus Small Design	\$14.00
S-XL	Plus Medium Design	\$16.00
	Plus Large Design	\$19.00
2XL-3XL	Plus Small Design	\$17.00
	Plus Medium Design	\$19.00
	Plus Large Design	\$22.00
Hooded Sweatshirt	Plus Small Design	\$25.00
S-XL	Plus Medium Design	\$27.00
	Plus Large Design	\$30.00
2XL-3XL	Plus Small Design Plus Medium Design	\$30.00 \$32.00

Product	Details	Price
	Plus Large Design	\$35.00
Polo Sport Shirt	Plus Small Design	\$28.00
S-XL	Plus Medium Design	\$30.00
	Plus Large Design	\$33.00
2XL-5XL	Plus Small Design	\$30.00
	Plus Medium Design	\$32.00
	Plus Large Design	\$35.00
Sweatpants	Plus Small Design	\$22.00
S-XL	Plus Medium Design	\$24.00
	Plus Large Design	\$27.00
2XL	Plus Small Design	\$25.00
	Plus Medium Design	\$27.00
	Plus Large Design	\$30.00
Banners	L x W (inches)	
12	24	\$15.00
12	36	\$19.00
12	48	\$25.00
12	60	\$29.00
12	72	\$35.00
20	24	\$18.00
22	28	\$25.00
24	36	\$29.00
24	48	\$39.00
24	60	\$49.00
24	72	\$59.00
24	84	\$69.00
24	96	\$79.00
30	48	\$45.00
30	72	\$69.00
30	96	\$89.00
30	120	\$99.00
30	144	\$119.00
36	48	\$49.00
36	60	\$59.00
36	72	\$69.00
36	84	\$79.00
36	96	\$89.00
Banners	L x W (Feet)	
4	4	\$59.00
4	5	\$69.00
4	6	\$79.00
4	8	\$95.00

Product	Details	Price
4	10	\$119.00
4	12	\$139.00
5	6	\$89.00
6	10	\$179.00
6	12	\$199.00
8	8	\$175.00
8	10	\$219.00
8	12	\$259.00
10	10	\$269.00
12	12	\$375.00
Roll up Banner	Eco 33" x80"	\$130.00
	Premium 33" x80"	\$179.00
Metal A-Frame	Qty	
18x24	1	\$85.00
	2	\$149.00
	3	\$219.00
24x32	1	\$119.00
	2	\$229.00
	3	\$329.00
36x48	1	\$199.00
	2	\$390.00
	3	\$540.00
24x36	1	\$129.00
	2	\$249.00
	3	\$349.00
X-stand Banner	23.3"x63"	\$85.00
Sintra Board		
Business Cards 14pt	100	\$15.00
	250	\$25.00
single-sided	500	\$45.00
	1000	\$69.00
	2500	\$149.00
	5000	\$239.00
	10000	\$399.00
Business Cards 16pt	100	\$19.00
	250	\$29.00
single-sided	500	\$49.00

Product	Details	Price
	1000	\$69.00
	2500	\$139.00
	5000	\$249.00
	10,000	\$399.00
Business Cards 14pt	100	\$15.00
, , , , , , , , , , , , , , , , , , ,	250	\$29.00
double-sided	500	\$49.00
	1000	\$79.00
	2500	\$159.00
	5000	\$269.00
	10000	\$449.00
Business Cards 16pt	100	\$25.00
	250	\$35.00
double-sided	500	\$59.00
	1000	\$79.00
	2500	\$149.00
	5000	\$289.00
	10000	\$449.00
Premium Post Card	14pt single-sided	
2.5x2.5	50	\$15.00
	100	\$20.00
	250	\$25.00
	250 500	\$25.00 \$35.00
	500	\$35.00
	500 1000	\$35.00 \$65.00
4x4	500 1000 2500	\$35.00 \$65.00 \$135.00
4x4	500 1000 2500 5000	\$35.00 \$65.00 \$135.00 \$249.00
4x4	500 1000 2500 5000 50	\$35.00 \$65.00 \$135.00 \$249.00 \$15.00
4x4	500 1000 2500 5000 50 100 250 500	\$35.00 \$65.00 \$135.00 \$249.00 \$15.00 \$25.00 \$45.00
4x4	500 1000 2500 5000 50 100 250	\$35.00 \$65.00 \$135.00 \$249.00 \$15.00 \$25.00 \$45.00
4x4	500 1000 2500 5000 50 100 250 500 1000 2500	\$35.00 \$65.00 \$135.00 \$249.00 \$15.00 \$25.00 \$45.00 \$65.00 \$99.00 \$199.00
	500 1000 2500 5000 50 100 250 500 1000 2500 5000	\$35.00 \$65.00 \$135.00 \$249.00 \$15.00 \$25.00 \$45.00 \$65.00 \$99.00 \$199.00 \$349.00
4x4 4x6	500 1000 2500 5000 50 100 250 500 1000 2500 5000	\$35.00 \$65.00 \$135.00 \$249.00 \$15.00 \$25.00 \$45.00 \$65.00 \$99.00 \$199.00 \$349.00 \$20.00
	500 1000 2500 5000 50 100 250 500 1000 2500 5000 50 100	\$35.00 \$65.00 \$135.00 \$249.00 \$15.00 \$25.00 \$45.00 \$65.00 \$99.00 \$199.00 \$349.00 \$20.00 \$30.00
	500 1000 2500 5000 50 100 250 500 1000 2500 5000 50 100 250	\$35.00 \$65.00 \$135.00 \$249.00 \$15.00 \$25.00 \$45.00 \$65.00 \$99.00 \$199.00 \$349.00 \$20.00 \$30.00
	500 1000 2500 5000 50 100 250 500 1000 2500 5000 50 100 250 500 500	\$35.00 \$65.00 \$135.00 \$249.00 \$15.00 \$25.00 \$45.00 \$65.00 \$99.00 \$199.00 \$349.00 \$20.00 \$30.00 \$70.00 \$110.00
	500 1000 2500 5000 50 100 250 500 1000 2500 5000 50 100 250 500 100 250	\$35.00 \$65.00 \$135.00 \$249.00 \$15.00 \$25.00 \$45.00 \$65.00 \$99.00 \$199.00 \$349.00 \$20.00 \$30.00 \$70.00 \$110.00 \$159.00
	500 1000 2500 5000 50 100 250 500 1000 2500 50 100 250 500 100 250 500 100 250	\$35.00 \$65.00 \$135.00 \$249.00 \$15.00 \$25.00 \$45.00 \$65.00 \$99.00 \$199.00 \$349.00 \$20.00 \$30.00 \$70.00 \$110.00 \$159.00 \$320.00
4x6	500 1000 2500 5000 50 100 250 500 1000 2500 5000 50 100 250 500 1000 250 500 500	\$35.00 \$65.00 \$135.00 \$249.00 \$15.00 \$25.00 \$45.00 \$65.00 \$99.00 \$199.00 \$349.00 \$30.00 \$70.00 \$110.00 \$159.00 \$320.00
	500 1000 2500 5000 50 100 250 500 1000 2500 50 100 250 500 1000 250 500 1000 250 500 500 500 500 500 500	\$35.00 \$65.00 \$135.00 \$249.00 \$15.00 \$25.00 \$45.00 \$65.00 \$99.00 \$199.00 \$349.00 \$20.00 \$30.00 \$70.00 \$110.00 \$159.00 \$320.00 \$349.00
4x6	500 1000 2500 5000 50 100 250 500 1000 2500 500 1000 250 500 1000 250 500 1000 250 500 1000	\$35.00 \$65.00 \$135.00 \$249.00 \$15.00 \$25.00 \$45.00 \$65.00 \$99.00 \$199.00 \$349.00 \$20.00 \$30.00 \$70.00 \$110.00 \$159.00 \$320.00 \$449.00 \$30.00 \$50.00
4x6	500 1000 2500 5000 50 100 250 500 1000 2500 50 100 250 500 1000 250 500 1000 250 500 500 500 500 500 500	\$35.00 \$65.00 \$135.00 \$249.00 \$15.00 \$25.00 \$45.00 \$65.00 \$99.00 \$199.00 \$349.00 \$20.00 \$30.00 \$70.00 \$110.00 \$159.00 \$320.00 \$349.00

Product	Details	Price
Troduct	1000	\$249.00
	2500	\$399.00
	5000	\$649.00
9x4	50	\$25.00
JAT	100	\$40.00
	250	\$89.00
	500	\$139.00
	1000	\$189.00
	2500	\$369.00
	5000	\$599.00
8.5x5.5	50	\$30.00
6.3x3.3	100	
		\$50.00
	250	\$99.00
	500	\$149.00
	1000	\$249.00
	2500	\$449.00
0.5.44	5000	\$799.00
8.5x11	50	\$60.00
	100	\$99.00
	250	\$199.00
	500	\$249.00
	1000	\$399.00
	2500	\$899.00
	5000	\$899.00 \$1,599.00
Premium Post Card	5000 14pt double-sided	\$1,599.00
Premium Post Card 2.5x2.5	5000  14pt double-sided  50	\$1,599.00 <b>\$15.00</b>
	5000  14pt double-sided  50  100	\$1,599.00 <b>\$15.00</b> \$25.00
	5000  14pt double-sided  50  100  250	\$1,599.00 <b>\$15.00</b> \$25.00 \$30.00
	5000  14pt double-sided  50  100  250  500	\$1,599.00 <b>\$15.00</b> \$25.00 \$30.00 \$40.00
	5000  14pt double-sided  50  100  250  500  1000	\$1,599.00 \$15.00 \$25.00 \$30.00 \$40.00 \$70.00
	5000  14pt double-sided  50  100  250  500  1000  2500	\$1,599.00 <b>\$15.00</b> \$25.00 \$30.00 \$40.00 \$70.00 \$139.00
2.5x2.5	5000  14pt double-sided 50 100 250 500 1000 2500 5000	\$1,599.00 \$15.00 \$25.00 \$30.00 \$40.00 \$70.00 \$139.00 \$259.00
	5000  14pt double-sided  50  100  250  500  1000  2500  5000  5000	\$1,599.00 \$15.00 \$25.00 \$30.00 \$40.00 \$70.00 \$139.00 \$259.00 \$20.00
2.5x2.5	5000  14pt double-sided  50  100  250  500  1000  2500  5000  50  100	\$1,599.00 \$15.00 \$25.00 \$30.00 \$40.00 \$70.00 \$139.00 \$259.00 \$20.00 \$30.00
2.5x2.5	5000  14pt double-sided  50  100  250  500  1000  2500  5000  50  100  250	\$1,599.00 \$15.00 \$25.00 \$30.00 \$40.00 \$70.00 \$139.00 \$259.00 \$20.00 \$30.00 \$50.00
2.5x2.5	5000  14pt double-sided  50  100  250  500  1000  2500  5000  50  100  250  500  50	\$1,599.00 \$15.00 \$25.00 \$30.00 \$40.00 \$70.00 \$139.00 \$259.00 \$20.00 \$30.00 \$50.00 \$75.00
2.5x2.5	5000  14pt double-sided  50  100  250  500  1000  2500  5000  50  100  250  500  100  250  500  1000	\$1,599.00 \$15.00 \$25.00 \$30.00 \$40.00 \$70.00 \$139.00 \$259.00 \$20.00 \$30.00 \$50.00 \$75.00 \$109.00
2.5x2.5	5000  14pt double-sided  50  100  250  500  1000  2500  5000  50  100  250  500  100  250  500  1000  2500	\$1,599.00 \$15.00 \$25.00 \$30.00 \$40.00 \$70.00 \$139.00 \$259.00 \$20.00 \$30.00 \$50.00 \$75.00 \$109.00 \$229.00
2.5x2.5 4x4	5000  14pt double-sided  50  100  250  500  1000  2500  5000  50  100  250  500  1000  2500  500	\$1,599.00 \$15.00 \$25.00 \$30.00 \$40.00 \$70.00 \$139.00 \$259.00 \$20.00 \$30.00 \$50.00 \$75.00 \$109.00 \$229.00 \$379.00
2.5x2.5	5000  14pt double-sided  50  100  250  500  1000  2500  5000  50  1000  250  500  1000  2500  5000  5000  5000  5000  5000  5000  5000  5000  5000  5000  5000	\$1,599.00  \$15.00  \$25.00  \$30.00  \$40.00  \$70.00  \$139.00  \$259.00  \$20.00  \$30.00  \$50.00  \$75.00  \$109.00  \$229.00  \$379.00
2.5x2.5 4x4	5000  14pt double-sided  50  100  250  500  1000  2500  500  100  250  500  1000  250  500  1000  2500  500	\$1,599.00 \$15.00 \$25.00 \$30.00 \$40.00 \$70.00 \$139.00 \$259.00 \$20.00 \$30.00 \$50.00 \$75.00 \$109.00 \$229.00 \$379.00 \$25.00 \$35.00
2.5x2.5 4x4	5000  14pt double-sided  50  100  250  500  1000  2500  5000  50  100  250  500  1000  2500  500	\$1,599.00 \$15.00 \$25.00 \$30.00 \$40.00 \$70.00 \$139.00 \$259.00 \$20.00 \$30.00 \$50.00 \$75.00 \$109.00 \$229.00 \$379.00 \$35.00 \$35.00 \$35.00 \$80.00
2.5x2.5 4x4	5000  14pt double-sided  50  100  250  500  1000  2500  5000  50  1000  250  500  1000  2500  500	\$1,599.00  \$15.00  \$25.00  \$30.00  \$40.00  \$70.00  \$139.00  \$259.00  \$20.00  \$30.00  \$50.00  \$75.00  \$109.00  \$229.00  \$379.00  \$35.00  \$80.00  \$129.00
2.5x2.5 4x4	5000  14pt double-sided  50  100  250  500  1000  2500  5000  50  100  250  500  1000  2500  500	\$1,599.00 \$15.00 \$25.00 \$30.00 \$40.00 \$70.00 \$139.00 \$259.00 \$20.00 \$30.00 \$50.00 \$75.00 \$109.00 \$229.00 \$379.00 \$35.00 \$35.00 \$35.00 \$80.00

Product	Details	Price
	5000	\$499.00
5x7	50	\$39.00
	100	\$65.00
	250	\$129.00
	500	\$169.00
	1000	\$259.00
	2500	\$499.00
	5000	\$899.00
9x4	50	\$30.00
	100	\$45.00
	250	\$95.00
	500	\$149.00
	1000	\$199.00
	2500	\$379.00
	5000	\$649.00
8.5x5.5	50	\$35.00
	100	\$55.00
	250	\$110.00
	500	\$169.00
	1000	\$259.00
	2500	\$499.00
	5000	\$899.00
8.5x11	50	\$69.00
	100	\$109.00
	250	\$229.00
	500	\$279.00
	1000	\$449.00
	2500	\$899.00
	5000	\$1,699.00
Rack Cards	50	\$15.00
3.74x8.27	100	\$15.00
single sided	250	\$49.00
make thickness	500	\$89.00
make thickness	1000	\$169.00
	2500	\$389.00
	5000	\$649.00
Custom Tickets	make 60-99	ψ0+3.00
1.9x5.5	50	\$15.00
single sided	100	\$25.00
<b>3</b> 1 1 1 1 1	250	\$39.00
	500	\$69.00
	1000	\$129.00
	2500	\$249.00
	5000	\$399.00
		,

Product	Details	Price
3.5x8.5	Details 50	\$25.00
3.5x6.5	100	\$35.00
	250	\$69.00
	500	\$119.00
	1000	\$219.00
	2500	\$379.00
	5000	\$639.00
Rack Cards	50	\$19.00
3.74x8.27	100	\$29.00
double sided	250	\$59.00
make thickness	500	\$99.00
make unickness	1000	\$179.00
	2500	\$419.00
	5000	\$699.00
Custom Tickets	3000	φ099.00
1.9x5.5	50	\$15.00
double sided	100	\$25.00
double sided	250	\$49.00
	500	\$79.00
	1000	
		\$129.00
	2500	\$249.00
2.50.5	5000	\$399.00
3.5x8.5	50	\$25.00
	100	\$35.00
	250	\$79.00
	500	\$129.00
	1000	\$239.00
	2500	\$399.00
	5000	\$689.00
Flyers 8.5x5.5	100	\$19.00
single-sided	250	\$39.00
onigio dided	500	\$75.00
	1000	\$109.00
	2500	\$199.00
	5000	\$350.00
	10000	\$589.00
	20000	\$899.00
	30000	\$1,299.00
	30000	ψ1,200.00
Flyers 8.5x5.5	100	\$25.00
double-sided	250	\$55.00
GOGDIO GIGOG	500	\$89.00
	1000	\$149.00
	2500	\$239.00
	2300	Ψ233.00

Product	Details	Price
	5000	\$450.00
	10000	\$699.00
	20000	\$999.00
	30000	\$1,399.00
		. ,
Flyers 8.5x11	100	\$39.00
single-sided	250	\$79.00
	500	\$99.00
	1000	\$179.00
	2500	\$349.00
	5000	\$589.00
	10000	\$899.00
	20000	\$1,549.00
	30000	\$1,899.00
Flyers 8.5x11	100	\$49.00
double-sided	250	\$89.00
	500	\$109.00
	1000	\$189.00
	2500	\$399.00
	5000	\$699.00
	10000	\$1,199.00
	20000	\$1,899.00
	30000	\$2,199.00
Posters 12x18		
	10	\$19.00
	20	\$35.00
	30	\$45.00
	50	\$55.00
	100	\$95.00
Mindow Decale	0	Deias Dan Course
Window Decals	Square Ft	Price Per Square
	<5 sq ft	\$9.00
	5-16 sq ft	\$8.00
	17-64*	\$14.00
	65-128*	\$13.00
	129-144*	\$12.00
	145-289*	\$11.00
Perforated Decal	290+*	\$10.00
renorated Decal	Square Ft	Price Per Square
	<5 sq ft	\$10.00
	5-16 sq ft	\$9.00
	17-64*	\$15.00 \$14.00
	65-128* 129-144*	\$14.00 \$13.00
	129-144"	\$13.00

Product	Details	Price
	145-289*	\$12.00
	290+*	\$11.00
Corrugated Board	Square Ft	Price Per Square
	<5 sq ft	\$7.00
	5-16 sq ft	\$6.00
	17-64*	\$5.00
	65-128*	\$4.75
	129-144*	\$4.50
	145-289*	\$4.25
	290+*	\$4.00
Corrugated Board		
6	24	Contact us
6	32	Contact us
6	36	Contact us
12	12	Contact us
12	16	Contact us
12	24	Contact us
12	36	Contact us
12	48	Contact us
18	24	Contact us
24	24	Contact us
24	32	Contact us
24	36	Contact us
24	48	Contact us
25	37	Contact us
32	48	Contact us
36	36	Contact us
36	48	Contact us
48	48	Contact us
48	96	Contact us
Corrugated Board		
6	24	Contact us
6	32	Contact us
6	36	Contact us
12	12	Contact us
12	18	Contact us
12	24	Contact us
12	36	Contact us
12	48	Contact us
18	24	Contact us
24	24	Contact us
24	32	Contact us
24	36	Contact us
24	48	Contact us

Details	Price
37	Contact us
48	Contact us
36	Contact us
48	Contact us
48	Contact us
96	Contact us
	37 48 36 48 48

Lawn Signs/ Yard Signs	1	\$15.00
12x12	2	\$24.00
single-sided	3	\$28.00
with step stakes	4	\$35.00
	5	\$40.00
	6	\$47.00
	7	\$51.00
	8	\$55.00
	9	\$59.00
	10	\$63.00
	20	\$110.00
	30	\$140.00
	40	\$170.00
	50	\$200.00
	60	\$230.00
	70	\$260.00
	80	\$280.00
	90	\$310.00
	100	\$330.00
	200	\$620.00
Lawn Signs/ Yard Signs	1	\$17.00
12x16	2	\$25.00
single-sided	3	\$30.00
with step stakes	4	\$38.00
	5	\$44.00

Lawn Signs/ Yard Signs	1	\$17.00
12x16	2	\$25.00
single-sided	3	\$30.00
with step stakes	4	\$38.00
	5	\$44.00
	6	\$52.00
	7	\$57.00
	8	\$62.00
	9	\$67.00
	10	\$72.00
	20	\$130.00
	24	\$148.00
	30	\$170.00
	40	\$210.00
	50	\$250.00

Product	Details	Price
	60	\$280.00
	70	\$300.00
	80	\$320.00
	90	\$340.00
	100	\$370.00
	200	\$620.00
Lawn Signs/ Yard Signs	1	\$19.00
16x24	2	\$32.00
single-sided	3	\$39.00
with step stakes	4	\$49.00
	5	\$57.00
	6	\$67.00
	7	\$74.00
	8	\$81.00
	9	\$88.00
	10	\$96.00
	12	\$114.00
	24	\$208.00
	30	\$230.00
	40	\$260.00
	50	\$310.00
	60	\$360.00
	70	\$410.00
	80	\$460.00
	90	\$490.00
	100	\$525.00
	200	\$1,000.00
Lawn Signs/ Yard Signs	1	\$15.00
12x12	2	\$24.00
double-sided	3	\$28.00
with step stakes	4	\$35.00
	5	\$40.00
	6	\$47.00
	7	\$51.00
	8	\$55.00
	9	\$59.00
	10	\$63.00
	20	\$110.00
	30	\$140.00
	40	\$170.00
	50	\$200.00
	60	\$230.00
	70	\$260.00

Product	Details	Price
Floduct	80	\$280.00
	90	\$310.00
	100	\$330.00
	200	\$600.00
	200	ψ000.00
Lawn Signs/ Yard Signs	1	\$17.00
12x16	2	\$25.00
double-sided	3	\$30.00
with step stakes	4	\$38.00
man etop etantee	5	\$44.00
	6	\$52.00
	7	\$57.00
	8	\$62.00
	9	\$67.00
	10	\$72.00
	20	\$130.00
	24	\$130.00
		·
	30	\$170.00
	40	\$210.00
	50	\$250.00
	60	\$280.00
	70	\$300.00
	80	\$320.00
	90	\$340.00
	100	\$370.00
	200	\$650.00
	,	004.00
Lawn Signs/ Yard Signs	1	\$21.00
16x24	2	\$36.00
double-sided	3	\$45.00
with step stakes	4	\$57.00
	5	\$67.00
	6	\$79.00
	7	\$88.00
	8	\$97.00
	9	\$106.00
	10	\$116.00
	12	\$138.00
	24	\$233.00
	30	\$255.00
	40	\$290.00
	50	\$350.00
	60	\$410.00
	70	\$470.00
	80	\$530.00

Product	Details	Price
	90	\$570.00
	100	\$625.00
	200	\$1,050.00

Stickers/Labels	Total Square In (LxWxQty)	Price Per Square
	<136 sq in	\$0.20
	136-180 sq in	\$0.12
	181-450	\$0.08
	900	\$0.06
	1000	\$0.05
	5000	\$0.04
		•
		\$0.80
Stickers/Labels	Inches	50-99
Calculator: Total Area/9	2x2	\$0.36
	3x3	\$0.80
	4x4	\$1.42
	5x5	\$2.22
Stickers/Labels	Total Square In (LxWxQty)	Price Per Square
(Transparent)	<136 sq in	\$0.20
	136-180 sq in	\$0.12
	181-450	\$0.08
	900	\$0.06
	1000	\$0.05
	5000	\$0.04
		\$0.80
Stickers/Labels	Inches	50-99
(Transparent)	2x2	\$0.36
Calculator: Total Area/9	3x3	\$0.80
	4x4	\$1.42
	5x5	\$2.22

Labels/ Stickers	Kiss Cut/ Circle Cut/Square Cut	
1x1	25	\$15.00
	50	\$15.00
	100	\$15.00
	200	\$25.00
	300	\$35.00
	500	\$50.00
	1000	\$80.00
	2000	\$120.00
	3000	\$150.00

Product	Details	Price
	5000	\$200.00
	10000	\$300.00
2x2	25	\$15.00
	50	\$20.00
	100	\$30.00
	200	\$50.00
	300	\$70.00
	500	\$110.00
	1000	\$190.00
	2000	\$290.00
	3000	\$390.00
	5000	\$475.00
	10000	\$850.00
3x3	25	\$20.00
	50	\$35.00
	100	\$60.00
	200	\$95.00
	300	\$110.00
	500	\$150.00
	1000	\$250.00
	2000	\$450.00
	3000	\$600.00
	5000	\$900.00
	10000	\$1,650.00
4x4	25	\$35.00
	50	\$60.00
	100	\$90.00
	200	\$130.00
	300	\$170.00
	500	\$250.00
	1000	\$425.00
	2000	\$725.00
	3000	\$995.00
	5000	\$1,495.00
	10000	\$2,615.00
5x5/4x6	25	\$55.00
	50	\$95.00
	100	\$140.00
	200	\$220.00
	300	\$275.00
	500	\$395.00
	1000	\$695.00
	2000	\$1,295.00
	3000	\$1,695.00
	5000	\$2,495.00

Product	Details	Price
	10000	\$3,995.00
1x2	25	\$15.00
	50	\$15.00
	100	\$20.00
	200	\$30.00
	300	\$40.00
	500	\$55.00
	1000	\$90.00
	2000	\$150.00
	3000	\$195.00
	5000	\$275.00
	10000	\$395.00
2x3	25	\$15.00
	50	\$25.00
	100	\$45.00
	200	\$80.00
	300	\$110.00
	500	\$165.00
	1000	\$235.00
	2000	\$375.00
	3000	\$495.00
	5000	\$715.00
	10000	\$1,175.00
2x4	25	\$20.00
	50	\$35.00
	100	\$65.00
	200	\$90.00
	300	\$120.00
	500	\$165.00
	1000	\$275.00
	2000	\$435.00
	3000	\$575.00
	5000	\$845.00
	10000	\$1,545.00
3x5	25	\$25.00
	50	\$45.00
	100	\$75.00
	200	\$115.00
	300	\$155.00
	500	\$235.00
	1000	\$395.00
	2000	\$685.00
	3000	\$925.00
	5000	\$1,395.00
	10000	\$2,395.00

Product Details Price